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 Please check that this question paper contains 12 printed pages. 

 Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 35 questions. 

 Please write down the Serial Number of the question before 

attempting it. 

 15 minutes time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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gm_mÝ` {ZX}e : 
(i) g^r àíZ A{Zdm`© h¢ & 
(ii) àíZ g§»`m 1 – 10 VH$ EH$ A§H$ Ho$ h¢ & BZ àíZm| Ho$ CÎma 20 eãXm| go A{YH$ Zht hmoZo 

Mm{hE &                                                                                            
(iii) àíZ g§»`m 11 – 20 VH$ Xmo A§H$m| Ho$ h¢ & BZ àíZm| Ho$ CÎma 40 eãXm| go A{YH$ Zht hmoZo 

Mm{hE & 
(iv) àíZ g§»`m 21 – 30 VH$ Mma A§H$m| Ho$ h¢ & BZ àíZm| Ho$ CÎma 100 eãXm| go A{YH$ Zht 

hmoZo Mm{hE & 
(v) àíZ g§»`m 31 – 35 VH$ N>… A§H$m| Ho$ h¢ & BZ àíZm| Ho$ CÎma 150 eãXm| go A{YH$ Zht 

hmoZo Mm{hE & 
(vi) àíZ g§»`m 30 _mZ{MÌ na AmYm[aV àíZ h¡ &  BgHo$ CÎma AnZr CÎma-nwpñVH$m _|  

{b{IE & 

General Instructions : 

(i) All questions are compulsory. 

(ii) Questions number 1 – 10 are of 1 mark each. The answers to these 

questions should not exceed 20 words each. 

(iii) Questions number 11 – 20 are of 2 marks each. The answers to these 

questions should not exceed 40 words each. 

(iv) Questions number 21 – 30 are of 4 marks each. The answers to these 

questions should not exceed 100 words each. 

(v) Questions number 31 – 35 are of 6 marks each. The answers to these 

questions should not exceed 150 words each. 

(vi) Question number 30 is a map-based question. Write its answers in your 

answer-book. 

1. Xb-AmYm[aV Am§XmobZm| go Š`m A{^àm` h¡ ? 1 
What is meant by party-based movements ? 

2. ^maVr` g§{dYmZ Ho$ AZwÀN>oX 370 H$s {H$gr EH$ _w»` {deofVm H$m CëboI H$s{OE & 1 
Mention any one salient feature of Article 370 of the Indian Constitution. 

3. am_ _Zmoha bmo{h`m Zo J¡a-H$m§J«ogdmX Ho$ nj _| H$m¡Z-gm g¡Õm§{VH$ VH©$ {X`m Wm ? 1 

Which theoretical argument did Ram Manohar Lohia give in defence of 

Non-Congressism ? 

4. emh Om±M Am`moJ H$m JR>Z H$~ Am¡a Š`m| {H$`m J`m Wm ? 
2

1
+

2

1
=1 

When and why was Shah Commission appointed ? 
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5. ^maV H$s AmµOmXr Ho$ g_` {H$Z Xmo aOdm‹S>m| Zo ^maV AWdm nm{H$ñVmZ Ho$ gmW {_bZo go 

BÝH$ma H$a {X`m ? 
2

1
+

2

1
=1 

Which two Princely States refused to join either with Pakistan or India at 

the time of independence ? 

6. gmoe{bñQ> nmQ>u H$m g§ñWmnH$ H$m¡Z Wm ? 1 

 Who was the founder of the Socialist Party ? 

7. g§`wº$ amï´>g§K H$m dV©_mZ _hmg{Md H$m¡Z h¡ ? dh {H$g Xoe H$m ZmJ[aH$ h¡ ? 
2

1
+

2

1
=1 

Who is the present Secretary-General of the United Nations ? He/She is a 

citizen of which country ? 

8. _mZdVm H$s gwajm go Š`m A{^àm` h¡ ? 1 

What is meant by Human Security ? 

9. ‘~¢S>d¡JZ’ aUZr{V go Š`m A{^àm` h¡ ? 1 

What is meant by ‘bandwagon’ strategy ? 

10. Xjog (SAARC) Ho$ _w»` CÔoí` H$m CëboI H$s{OE & 1 

Mention the main objective of SAARC. 

11. JR>~§YZ gaH$ma go Š`m A{^àm` h¡ ? ^maV _| Ho$ÝÐr` ñVa na JR>~§YZ gaH$ma H$m Xm¡a H$~ 

ewê$ hþAm ? 1
2

1
+

2

1
=2 

 What is meant by Coalition Government ? When did the era of coalition 

governments start at the Central level in India ? 

12. X{bV n¢Wg© Ho$ Ûmam CR>mE JE {H$Ýht Xmo _wÔm| H$m CëboI H$s{OE & 2 1=2 

Mention any two issues raised by the Dalit Panthers. 

13. Zohê$ Ûmam à{Vnm{XV {dXoer Zr{V Ho$ {H$Ýht Xmo {gÕmÝVm| H$m CëboI H$s{OE & 2 1=2 
Enumerate any two principles of the foreign policy advocated by Nehru. 

14. ñdV§Ì ^maV Ho$ nhbo ^maVr` JdZ©a-OZab H$m¡Z Wo ? CÝhm|Zo 1959 _| {H$g nmQ>u H$s 
ñWmnZm H$s ? 1+1=2 

Who was the first Indian to be Governor-General of India ? He founded 

which party in 1959 ?  
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15. ^maV _| H$m¡Z-go Xmo ^y{_-gwYma g\$b hþE ? 2 1=2 

Which two land reforms were successful in India ? 

16. _ybdm{g`m| H$mo AnZo A{YH$mam| Ho$ {bE {deof g§ajU H$s Amdí`H$Vm Š`m| n‹S>Vr h¡ ? 1+1=2 
Why do indigenous people need special protection for their rights ? 

17. `yamonr` g§K Ho$ P§S>o _|, ‘12 gmoZo Ho$ a§J Ho$ {gVmao’ {H$gH$m àVrH$ h¢ ?  2 
 In the European Flag, what does the symbol of ‘twelve golden stars’ 

signify ? 

18. {H$Ýht Xmo {dídì`mnr gmd©O{ZH$ dñVwAm| Ho$ CXmhaU Xr{OE & 2 1=2 
Mention any two examples of global public goods.  

19. ‘em°H$-Woaonr’ Ho$ {H$Ýht Xmo n[aUm_m| H$mo COmJa H$s{OE & 2 1=2 
Highlight any two consequences of ‘Shock Therapy’. 

20. JwQ>-{Zanoj Am§XmobZ (NAM) Ho$ {H$Ýht Xmo g§ñWmnH$ gXñ` Xoem| Ho$ Zm_ {b{IE & 2 1=2 

Name any two founder member countries of Non-Aligned Movement (NAM). 

21. Eogr {H$Ýht Mma dmñV{dH$VmAm| H$m CëboI H$s{OE {OÝhm|Zo erV `wÕ Ho$ níMmV² {díd 
amOZr{V H$mo ~Xb {X`m & 4 1=4 
Mention any four realities that changed the world politics after the Cold 

War. 

22. 1969 _| Xb Ho$ {d^mOZ Ho$ ~mX H$m±J«og nmQ>u H$s nwZñWm©nZm _| ghm`H$ {H$Ýht Mma H$maH$m| 
H$s ì`m»`m H$s{OE & 4 1=4 

 Explain any four factors which helped in the restoration of Congress 

Party after its split in 1969. 

23. ^maV Ho$ na_mUw H$m`©H«$_ H$s J{V{d{Y`m| Ho$ {dH$mg na àH$me S>m{bE & 4 

Highlight the development of India’s nuclear programme. 

24. B©.dr.E_. (EVM) H$m {dñV¥V ê$n {b{IE & BgH$m à`moJ ^maV _| H$~ àma§^ {H$`m J`m ? 

B©.dr.E_. VWm _VXmVm nhMmZ-nÌ Ho$ EH$-EH$ bm^ H$m CëboI H$s{OE &  1+1+2=4 

What is the full form of EVM ? When was it introduced in India ? 

Mention one advantage each of EVM and Voter Identity-Card. 

25. d¡ídrH$aU go Š`m A{^àm` h¡ ? d¡ídrH$aU Ho$ {H$Ýht VrZ amOZr{VH$ n[aUm_m| H$s ì`m»`m 

H$s{OE &  1+3=4 

What is meant by globalisation ? Explain any three political 

consequences of globalisation. 
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26. ‘d¡pídH$ gmPr g§nXm’ go Š`m A{^àm` h¡ ? BgH$s gwajm Ho$ {bE {H$Ýht Xmo MaUm| H$m 

gwPmd Xr{OE & 2+2=4 

 What is meant by ‘Global Commons’ ? Suggest any two steps for the 

protection of  ‘Global Commons’. 

27. ^maV H$s gwajm aUZr{V Ho$ {H$Ýht Mma KQ>H$m| H$s ì`m»`m H$s{OE & 4 1=4 

Explain any four components of India’s security strategy. 

28. ‘‘g§`wº$ amï´> EH$ An[ahm`© g§ñWm h¡ &’’ Bg H$WZ H$mo {H$Ýht Xmo Cn ẁº$ VH$m] Ûmam gË`m{nV 

H$s{OE & 2 2=4 

 ‘‘The UN is an indispensable organisation.’’ Justify the statement with 

any two suitable arguments.  

 

29. ZrMo {XE JE H$mQy>©Z H$m Ü`mZnyd©H$ AÜ``Z H$s{OE VWm {ZåZ{b{IV àíZm| Ho$ CÎma  
Xr{OE : 4 1=4 

 

(i) {XE JE H$mQ>©yZ H$m gå~ÝY {H$g Xoe go h¡ ? 

(ii) Eb.Q>r.Q>r.B©. H$m {dñV¥V ê$n {b{IE &  

(iii) Eb.Q>r.Q>r.B©. H$r _w»` _m±J Š`m Wr ? 

(iv) amOnjo H$m¡Z-gm amOZr{VH$ H$m`© H$aZo H$m à`mg H$a ahm h¡ ? 
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Study the cartoon given below carefully and answer the following questions : 

 

(i) The given cartoon is related to which country ? 

(ii) What is the full form of LTTE ? 

(iii) What was the main demand of LTTE ? 

(iv) Rajapakse is trying to perform which political act ? 

 

ZmoQ> : {ZåZ{b{IV àíZ Ho$db Ñ{ï>hrZ narjm{W©`m| Ho$ {bE, àíZ g§»`m 29 Ho$ ñWmZ na h¢ &  
Note :  The following questions are for the BLIND CANDIDATES only, in 

lieu of Question No. 29. 

{ZåZ{b{IV àíZm| Ho$ CÎma {b{IE : 4 1=4 

(i) Eb.Q>r.Q>r.B©. (LTTE) H$m {dñV¥V ê$n {b{IE & 

(ii) Eb.Q>r.Q>r.B©. (LTTE) H$m gå~ÝY {H$g Xoe go h¡ ?  

(iii) Eb.Q>r.Q>r.B©. (LTTE) H$s _w»` _m±J Š`m Wr ? 

(iv) OmVr` g§Kf© go Š`m A{^àm` h¡ ? 
Answer the following questions : 

(i) What is the full form of LTTE ? 

(ii) LTTE is related to which country ? 

(iii) What was the main demand of the LTTE ? 

(iv) What is meant by ethnic conflict ? 
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30. {XE JE ^maV Ho$ amOZr{VH$ aoIm _mZ{MÌ _|, Mma amÁ`m| H$mo                Am¡a      Ûmam 
{M{•V {H$`m J`m h¡ & ZrMo Xr JB© OmZH$mar Ho$ AmYma na BZH$s nhMmZ H$s{OE Am¡a 
AnZr CÎma nwpñVH$m _| BZHo$ ghr Zm_ H«$_e… gå~pÝYV H«$_ g§»`m Ed§ Aja g{hV  
{b{IE : 41=4 

 

(i) dh amÁ` Ohm± go nyd© àYmZ_§Ìr dr.nr. qgh {Zdm©{MV hþE Wo & 

(ii) OyZ 1996 go Aà¡b 1997 VH$ aho nyd© àYmZ_§Ìr H$m amÁ` & 

(iii) dh amÁ` {OgH$m gå~ÝY _§S>b Am`moJ (1977 – 79) Ho$ AÜ`j go Wm & 

(iv) dh amÁ` Ohm± 1952 go 1967 VH$ ZoeZb H$m°Ý\«|$g H$s gaH$ma ~Zr ahr & 
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In the given political outline map of India, four States have been marked 

as                      and     . Identify them with the help of the information given 

below and write their correct names in your answer book along with their 

respective serial numbers and the alphabets concerned : 

 
(i) The State wherefrom former Prime Minister V.P. Singh was elected. 

(ii) The former Prime Minister from June 1996 to April 1997 belonged 

to this State. 

(iii) The State to which the Chairman of Mandal Commission  

(1977 – 79) belonged. 

(iv) The State where the National Conference ruled from 1952 to 1967. 
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ZmoQ> : {ZåZ{b{IV àíZ Ho$db Ñ{ï>hrZ narjm{W©`m| Ho$ {bE, àíZ g§»`m 30 Ho$ ñWmZ na h¢ &  

Note :  The following questions are for the BLIND CANDIDATES only, in 

lieu of Question No. 30. 

{ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE : 41=4 

(i) nyd© àYmZ_§Ìr dr.nr. qgh {H$g amÁ` go {Zdm©{MV hþE Wo ?   

(ii) _§S>b Am`moJ (1977 – 79) H$m AÜ`j H$m¡Z Wm ? 

(iii) nyd© àYmZ_§Ìr Za{gåhm amd {H$g amÁ` go gå~pÝYV Wo ? 

(iv) Ý`yZV_ H$m`©H$mb Ho$ {bE aho nyd© àYmZ_§Ìr H$m Zm_ {b{IE &  

Answer the following questions : 

(i) The former Prime Minister V.P. Singh was elected from which 

State ? 

(ii) Who was the Chairman of the Mandal Commission (1977 – 79) ? 

(iii) The former Prime Narasimha Rao belonged to which State ? 

(iv) Name the former Prime Minister who remained in office for the 

shortest tenure. 

31. {ZåZ{b{IV AdVaU H$mo n{‹T>E Am¡a CgHo$ ZrMo {bIo n«íZm| Ho$ CÎma Xr{OE : 32=6 

  Bggo nhbo Kaoby qhgm, XhoO-àWm, H$m`©ñWb Ed§ gmd©O{ZH$ ñWmZm| na  
`m¡Z-CËnr‹S>Z Ho$ {Ibmµ\$ H$m_ H$aZo dmbo _{hbm g_yh Am_Vm¡a na ehar _Ü`dJu` 
_{hbmAm| Ho$ ~rM hr g{H«$` Wo Am¡a `h ~mV nyao Xoe na bmJy hmoVr Wr & _{hbm g_yhm| Ho$ 
gVV² à`mg go `h g_PXmar {dH${gV hmoZr ewê$ hþB© {H$ Am¡aVm| na hmoZo dmbo AË`mMma Am¡a 
b¢{JH$ ^oX^md H$m _m_bm ˜mgm O{Q>b h¡ & AmR>d| XeH$ Ho$ Xm¡amZ _{hbm Am§XmobZ 
n[adma Ho$ A§Xa Am¡a CgHo$ ~mha hmoZo dmbr `m¡Z qhgm Ho$ _wX²Xm| na H|${ÐV ahm & BZ g_yhm| 
Zo XhoO-àWm Ho$ {Ibmµ\$ _w{h_ MbmB© Am¡a b¢{JH$ g_mZVm Ho$ {gÕmÝV na AmYm[aV 
ì`{º$JV Ed§ g§n{Îm H$mZyZm| H$s _m±J H$s & 

àíZ : 

(i) ‘b¢{JH$ ^oX^md’ go Š`m A{^àm` h¡ ? Bggo gå~pÝYV {H$Ýht Xmo gm_m{OH$ Hw$ar{V`m| 
Ho$ CXmhaU Xr{OE & 

(ii) b¢{JH$ ^oX^md H$mo g_má H$aZo Ho$ {bE H$moB© Xmo Cnm` gwPmBE & 

(iii) _{hbmAm| na {H$E OmZo dmbo AË`mMma Ho$ {H$Ýht Xmo _wX²Xm| H$m CëboI H$s{OE & 
BZ AË`mMmam| H$mo g_má H$aZo H$m g~go à^mdembr VarH$m H$m¡Z-gm h¡ ? 

AWdm 
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 {ZåZ{b{IV AdVaU H$mo n{‹T>E Am¡a CgHo$ ZrMo {bIo àíZm| Ho$ CÎma Xr{OE : 32=6 

  Xÿgam dJ© (Bg_| Á`mXmVa H$í_rar h¢) {dídmg H$aVm h¡ {H$ BVZr ^a ñdm`ÎmVm 
n`m©á Zht h¡ & H$í_r[a`m| Ho$ EH$ dJ© Zo VrZ à_wI {eH$m`V| CR>m`r h¢ & nhbr `h {H$ 
^maV gaH$ma Zo dm`Xm {H$`m Wm {H$ H$~m`br Kwgn¡{R>`m| go {ZnQ>Zo Ho$ ~mX O~ pñW{V 
gm_mÝ` hmo OmEJr Vmo ^maV g§K _| {db` Ho$ _wÔo na OZ_V-g§J«h H$am`m OmEJm & Bgo nyam 
Zht {H$`m J`m & Xÿgar, Ymam 370 Ho$ VhV {X`m J`m {deof XµOm© nyar Vah go A_b _| Zht 
bm`m J`m & Bggo ñdm`ÎmVm H$r ~hmbr AWdm amÁ` H$mo Á`mXm ñdm`ÎmVm XoZo H$s _m±J  
CR>r & Vrgar {eH$m`V `h H$s OmVr h¡ {H$ ^maV Ho$ ~mH$s {hñgm| _| {Og Vah bmoH$V§Ì na 
A_b hmoVm h¡ Cg Vah H$m g§ñWmJV bmoH$Vm§{ÌH$ ~aVmd Oå_y-H$í_ra _| Zht hmoVm & 

àíZ : 
(i) OZ_V-g§J«h go Š`m A{^àm` h¡ ? 

(ii) Ymam 370, gå~pÝYV amÁ` H$mo {H$g àH$ma H$s ñdm`ÎmVm gw{ZpíMV H$aVr h¡ ? 

(iii) AdVaU _| {b{IV ‘H$~m`br Kwgn¡R>’ go gå~pÝYV KQ>Zm H$m dU©Z H$s{OE & 

 Study the passage given below and answer the questions that follow : 

  Earlier, women’s groups working on issues of domestic violence, 

the custom of dowry, sexual abuse at work and public places were active 

mainly among urban middle-class women in different parts of the 

country. Their work led to a realisation that issues of injustice to women 

and of gender inequalities were complicated in nature. During the decade 

of the eighties women’s movement focused on issues of sexual violence 

against women – within the family and outside. These groups ran a 

campaign against the system of dowry and demanded personal and 

property laws based on the norms of gender equality. 

Questions :  

(i) What is meant by ‘gender inequality’ ? Give any two examples of 

social evils related to this. 

(ii) Suggest any two measures to eradicate gender inequality. 

(iii) Mention any two issues of injustice to women. What is the most 

effective way to address these issues ? 

 

OR 
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 Study the passage given below and answer the questions that follow : 

  Another section, mostly Kashmiris, believe that the autonomy 

conferred by Article 370 is not enough. A section of Kashmiris have 

expressed at least three major grievances. First, the promise that 

Accession would be referred to the people of the State after the situation 

created by tribal invasion was normalised, has not been fulfilled. This 

has generated the demand for a ‘Plebiscite’. Secondly, there is a feeling 

that the special federal status guaranteed by Article 370, has been eroded 

in practice. This has led to the demand for restoration of autonomy or 

‘Greater State Autonomy’. Thirdly, it is felt that democracy which is 

practised in the rest of India has not been similarily institutionalised in 

the State of Jammu and Kashmir.  

Questions : 

(i) What is meant by ‘Plebiscite’ ? 

(ii) What type of autonomy does the Article 370 ensure to the State 

concerned ? 

(iii) State the incident referred to as ‘tribal invasion’ in the given 

passage. 

32. ^maV _| 1967 Ho$ Mm¡Wo Am_ MwZmd go nhbo Ho$ J§^ra Am{W©H$ g§H$Q> H$m narjU H$s{OE & 
Bg {Zdm©MZ Ho$ AmYma na {Zdm©MH$m| Ho$ OZmXoe H$m {díbofU H$s{OE & 3+3=6 

AWdm 
 1977 Ho$ MwZmd Ho$ ~mX, H|$Ð _| {dnjr Xbm| H$s gaH$ma ~Zr & Bg ~Xbmd Ho$ {H$Ýht N>… 

H$maUm| H$m {díbofU H$s{OE & 61=6 

Examine the grave economic crisis prior to the fourth general elections of 

1967 in India. Analyse the verdict of the electorate based on this election. 

OR 

It was for the first time in India that the 1977 elections saw the 

opposition coming to power at the Centre. Analyse any six reasons for 

this change. 

33. ñdV§ÌVm Ho$ níMmV² ^maVr` amOZr{VH$ n[aÑí` _| bJ^J VrZ XeH$m| VH$ H$m±J«og nmQ>u H$m 
à^wËd ~ZmE aIZo _| ghm`H$ {H$Ýht VrZ H$maH$m| H$m _yë`m§H$Z H$s{OE & 32=6 

AWdm 
 Xÿgar n§Mdfu` `moOZm Ho$ Xm¡amZ Am¡Úmo{JH$ {dH$mg VWm H¥${f {dH$mg Ho$ nj _| {XE JE 

VrZ-VrZ _w»` VH$m] H$s ì`m»`m H$s{OE & 3+3=6 
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Evaluate any three factors that helped the Congress Party to continue to 

dominate the Indian political scenario for almost three decades after 

independence. 

OR 

Explain the three main arguments each that ensued in favour of 

industrialisation and agricultural development at the time of the Second 

Five Year Plan. 

 

34. Am{g`mZ g_wXm` Ho$ VrZ ñVå^m| H$s ì`m»`m H$s{OE &  32=6 

AWdm 

 àm¡Úmo{JH$s Am¡a g§.am. A_arH$m _| ~go A{Zdmgr ^maVr`m| Ho$ g§X^© _|, g§.am. A_arH$m Ho$ 
gmW ^maV Ho$ gå~ÝYm| H$s ì`m»`m H$s{OE & g§.am. A_arH$m Ho$ gmW gå~ÝYm| H$s VrZ 
g§^m{dV aUZr{V`m| H$m ^r dU©Z H$s{OE &  3+3=6 

Explain the three pillars of ASEAN community.  

OR 

Explain India’s relationship with the US in the light of technological 

dimensions and Indian-American diaspora. Describe also three possible 

strategies of relations with the US.  

35. erV `wÕ g_má hmoZo Ho$ níMmV², JwQ>-{Zanoj Am§XmobZ H$s àmg§{JH$Vm H$m _yë`m§H$Z  

H$s{OE & 6 
AWdm 

 gmo{d`V g§K Ho$ {dKQ>Z Ho$ {H$Ýht N>… H$maUm| H$m {díbofU H$s{OE & 61=6 

Evaluate the relevance of the Non-Aligned Movement after the end of the 

Cold War.  

OR 

Analyse any six causes of the disintegration of the Soviet Union. 


